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m Purpose
What is a CBA?

H
®m Why is a CBA Important?

B Modeling CBA Metrics in ACE

m Comparing alternatives with ACE and POST
m Conclusion
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B Decisions about how to allocate resources are often supported
by a Cost Benefit Analysis (CBA). CBAs consider both
guantifiable and non-quantifiable benefits. Quantifiable
benefits can be assigned a numeric value such as dollars and
ranked based on project selection criteria. These selection
criteria (metrics) can be calculated in ACE with the aid of
several functions. This presentation will demonstrate the
calculation/modeling of the most common metrics used in
CBAs.
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. a structured methodology that determines the costs and benefits of one or more
alternatives and compares them in order to identify the best alternative to achieve a
stated goal/objective.

— U.S. Army Cost Benefit Analysis Guide, January 2010

. a systematic approach to identify, analyze, and compare costs or benefits of
alternative courses of action that will achieve a given set of objectives.

— U.S. Army Cost Benefit Analysis Guide, January 2010

. a conceptual framework for systematically investigating problems of choice. Posing
various alternatives for reaching an objective, it analyzes the LCCE and benefits of each
one, usually with a return on investment analysis.

— GAO Cost Estimating and Assessment Guide, March 2009

. an objective method for making rational decisions among alternatives. Compares
time-phased, economically-adjusted costs and benefits of solutions/alternatives for a
defined problem/objective.

- SCEA Online
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The CBA Eight-Step Process

Using analysis to make the case for a project or proposal:
Weighing the total expected costs against the total expected benefits
over the near, far, and lifecycle timeframes from an Army enterprise perspective.

COSTS BENEFITS
O The total of quantifiable and : 0 The total of quantifiable and
non-guantifiable costs : non-quantifiable benefits

Quantifiable costs ' Quantifiable benefits
& Direct ) = Cost savings and

** - This briefing focuses on steps 7 & 8 — U.S. Army Cost Benefit Analysis Guide, April 2011
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m Offer a way to systematically assess costs and benefits for
each alternative

e Monetary costs and benefits
» E.g., Financial outlays, proceeds from sale of assets, savings

e Non-monetary costs and benefits
» E.g., Loss or gain in capability or performance

m Compare relative strengths and weaknesses of each alternative
to identify the most effective alternative that accomplishes the
mission

m Provide information so management can make informed
decisions on where to allocate resources
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ACEIT

Step 7 — Compare Alternatives
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COSt POrtion ol

CBAs with ACE

B Modeling CBAs in ACE is atwo step process

e Estimate the CBA Alternatives
» The Status Quo and each alternative need to be estimated

e Perform the CBA Alternative Comparisons
» Compare the results of the alternatives using various metrics

m Alternatives can be modeled with a single ACE
session (Cases) or with multiple ACE sessions
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COMpPAAng
Alternatives

B No matter if you use a single ACE session or multiple ACE
sessions, you need to compare the results of the alternatives

B Putting the Cases together
e Use ACE to build a CBA Summary Model (ACE 7.4 will include an
example/template)

» Use ACE-to-ACE plug-in to combine results from Status Quo and
Alternatives

» Use POST to develop standard reporting and charting (Hint: tie to
CBA Dbriefing template)

B A CBA Summary Model makes metric calculations that compare
alternatives (cases) easier to perform

e Math across cases is difficult since you cannot reference one case result
from within another case
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m Cost Metrics

NET Benefits — The difference between the benefits and the costs (benefits-costs)

Net Present Value (NPV) — The present value (PV) of a project’s benefits minus the PV of a
project’s cost; calculated as PV(benefits)-PV(costs)

Uniform Annual Cost (UAC) — Method used to compare alternatives with unequal lives;
calculated by dividing the present value of the cost of an alternative by the sum of the
discount factors for the periods covering the life of the alternative

m Index Metrics

Profitability Index (PI or benefit/cost ratio) — Relative profitability of any project or financial
benefit gained from an investment; calculated as PV(benefits)/PV(costs); higher is better

» Savings Investment Ratio (SIR) and Benefits Investment Ratio (BIR) are similar to PI

Cost/Benefit Ratio — Depicts “unit cost” of benefits; reciprocal of the PI; calculated as
PV(costs)/PV(benefits); lower is better

m Year and Rate Metrics
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Pay Back Period — Number of years required to recover initial investment
Break Even Year — The year in which the initial investment is recovered

Internal Rate of Return — Also known as Return on Investment (ROI); The discount rate that
equates the present value of the benefits with the present value of the costs; discount rate

where NPV=0
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m ACE has four Economic Analysis functions to help with CBA
metric calculations

e EADiscFact() - This function calculates the annual discounting cost
multiplier (factor) used in present value calculations.

e EAPayBckPd() - This function determines the payback period needed to
recover an investment cost. It returns the fractional number of years
required for cumulative savings to be greater than the total investment.

e EABrkEvnYr() - This function determines the break even year for an
Investment. It returns the first fiscal year in which the cumulative savings
IS greater than or equal to the total of the investment.

e EADiscVal() - This function determines the discounted value of a cost
stream by multiplying a value by an annual discounting factor.
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future costs and benefits

m Use the EADiscFact Function

EADiscFact ( project_year, rate, method, [ current_year ])

» Project Year — zero year of project
> Rate —rate used to develop annual multipliers
» Method — indicator variable for cost accrual method

B The discount factor is used to calculate the present value of

COA 1 COAZ- COA S - Propulsion, )
WES/CES Description Unigue 1D Status m'm Fropulsion and | Ground Station and Equation f Throughput |
al Ch Mods CM Mods
18 ‘INPUT VARIABLES ‘IN_VAR
19 Present Value Year Py _¥r 2012 2012+ 2012+ FvBYy
20 Dizcourt Fste DizcRate < 7.000 * 7000 = 7000 = 7
| Method to Discourt (1= End, 2= Middle, 3=Beginning of yeat) Dischithd 2.000* 2.000 = 2.000 = 2
22 Dizcount Factar DiscFactor F 14.240* 14240 * 14240 * EADISCFACT(PY ¥r-1, DiscRate, Dischithd, FYR) |
4 | S0
it...dology (Bv2012$K) % 07a - CBA Templ...wer (BY20124K) , - X
-
WES/CES Description Fv 22 Fv' 2013 Fv' 2014 Fv' 2015 Fv 2016 Fv 2017 Fv 2018 Fv' 2019 Fy' 2020 Fv' 2021 Fv' 2022 —
18 *INPUT VARIABLES B
19 PresentValue Year
20 Dizcount Rate
21 Method to Dizcount (1= End, 2= Mi
22 | Dizcount Factor 0.967 0,903 0.844 0.789 0.738 0689 0644 0602 0,563 0.526 0.4 %
£ | >
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value

m All future costs and benefits are discounted to the present

e The present value is used in several metric calculations like NPV, PI, and IRR

B Benefits = Cost Savings + Cost Avoidances + Residual Value
e Cost Savings = Status Quo Operations — Alternative Operations

o _ COA 1. COAQ- COL 3 - F'rnpulsinn, _
WES/CES Description Unigue D Status Guo Propulsion and | Ground Station and Equation / Throughput
a O Mods Ok Mods
45 * Status Ouo minus Akternative Operations Cost (BY$)
T 4R Total Benefits (BVE) TotBeng 0,000 * 25932475 * 37 061 TED *
A7 Cost Savings (Operations Costs) (BYE) Save_OpCst F 0.000 * 25932475 ¢ TOE1.761 % [SQ_MiIPerst + SQ_0SH) - (Selak_MiPersS + Selat_0SH)
48 Cost Avaidances (BY$) F 0.000 * 0.000 * 0.000 * Catavg
49 Residual Value (BY §) F 0.000 * 0.000 * 0.000 * Res§
a0
a7 * Status Guo minus Alternative Operations Cost (Present Value)
a8 Total Benefits (P4 P _TaotBen 0.000 * 11965320 * 17,195.239 *
50 Cost Savings (PYV) PY_Sav| F 0.000 * 11,965 520 * 17195539 * Save_OpCst * DiscFactar
B0 Cost Avoidances (PYV)) P _Cstivd F 0.000 * 0.000 * 0.0o0 * Cstiv§ * DiscFactor
B1 Residual Walue (PV) P _Restk F 0.000 * 0.000 * 0.0o0 * Res§ * DizcFactor
< | »
m Costs = Alternative Investment — Status Quo Investment
P COA 1 COAZ- | COAJ- Propulsion,
WWEBS/CES Description Unigue [0 | h Status ﬂl-lo Fropulsion and | Ground Station and Equation / Thraughput
& Ot Mods Ot hlods
53 ‘ARlernative minus Status Guo Investment Cost
" R4 | Cost Differential (Irvestmert) (BY5) Imv_Cst| F 0.000 * 4889350 * 7 623950 Selsk_ROTES + Selbt_Procs - SQ_RDTES - S0_Proc
GG |Cost Differential (Investment) (PY) Py _Imv | F 0.000 * 3,060 576 * 4 366722 * Inv_Cst * DiscFactar
£ | »
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B The difference between the present value of the
benefits and the present value of the costs
» PV(benefits)-PV(costs)
» Higher is better

B AcE7.3- [07a - CBA Template for AUW.aceit - Methodology (BY 201 25K)]

:% Fle Edit Wew Documentation Calc  Cases  Reports  Tools  Window  Help

ARNEA N RN RN e R RS R S AR

: wid -5~ A-O-|B 7 U | % L imethodbgy - DA% 3k ufse LB EHGH
1 ] S O
/% 07a - CBA Templ..logy (BY2012$K)", - X
P e COAZ- |COA3- Propulsion, Ay
WEBS/CES Description h Status m'w Propulsion and | Ground Station and Equation f Throughput 0
al OM Mods Ok Mods
5 * EA/CBA Metrics
3 MET Benefts (B%F) (higher iz batter) F -0.000 * 21 043125+* 29437751 ¢ TotBend - Inv_Cst
4 MET Present Walue (higher is better) F -0.000 * 5,904 7435 * 12,828.816 P _TotBen - PY_Ine | o,
< »
\Methu:udu:ulu:ug',-' {,{Plug In Links {,{‘.’earl‘f Phasing Kwhat if (read only) {,{Ke'y'wu:urds {,{Custu:um 1 //
fready UM
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B A measure of the relative cost of a project used to compare
alternatives with unequal lives

e Calculated by dividing the present value of the costs of an alternative by the sum
of the discount factors for the years the system provides benefits

e UAC = PV(total project cost) / sum of discount factors

COA 1 COAZ - COA 3 - Propulsian, o
WES/CES Description UInigue 1D Status Quo Propulsion and | Ground Station and Equation / Throughput =
3l Cr Mods Of Mods
5 * EA/CBA Metrics
15 Unifarm Annual Cost (lovwer is better) C 46 131 467 * 45 TS5 670 * 44 595 544 * Selaft_TotP'§ f DisFactSum
17
18 ‘INPUT VARIABLES ‘IN_VAR
27 Dizcourt Factar DizcFactor . F 14.240* 14.240* 14.240 * EADISCFACTIPY _Wr-1, DiscRate, Dischtthd, PR
23 Sum of Discount Factors DisFactSum | C 10.405 * 10.405 * 10.405 * FvCCUMEDiscFactor, Oplast'yr)
37
38 ' Present Value for selected case
a0 Total Cost (Prezent Yalue) Selaf_TotPw'§ F 480,007 164 * FAT 102421 * FAET 1755345 *
A0 ROTEE F % 37339.085* 37 7994158 F39,083.852 * Seltlt_RDTEY * DiscFactor
41 Procuremert F § 332 045.960 * F 334 647.205 * § 334 635914 * Selalk_Proct * DizcFactor
47 Military Perzonel F F0.000 = F0.000 = F0.000 = Selak_MilPers§ * DiscFactar
43 Cperations & Suppart F 3 110E21.120% § 95 655.500 * F 934255581 * Selaft_OS§ * DiscFactor Z
< | =
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Pl and CBR are the inverse of each other

m Pl -the present value of total benefits divided by the present
value of the total costs (Benefit/Cost ratio)

e PV(total benefits)/PV(total costs)
e >1; Higher is better
B CBR -the present value of total costs divided by the present
value of the total benefits
e PV(total costs)/PV(total benefits)
e <I1; Lower is better

COA 1 COAZ - COA 3 - Propulsian, A
WEBS/CES Description Status {}l-lo Propulsion and | Ground Station and Equation f Throughput B
al = OM Mads OM Mads
5 *EA/CBA Metrics
[ Profitakility Index (BeneftiCost Ratio) (=1, higher is hetter) | C 0.000 * 3809 * 3835 IF{PY _Inwe=0,0 P%_TatBen ! PY_Iny)
g Cost Benefit Ratio (=1, lower is hetter) C 1.000 * 0256 * 0254 * IFiP_TotBen==01P%_lnw { PY_TotBen) | o
< #
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SAVINYS IMVEStUMENT Rl 2
Benefit Investment Ratio

m Both ratios are related to the Profitability Index
e Slight variations in numerator and denominator

B Savings Investment Ratio (SIR)
e SIR = PV(cost savings)/(PV(costs)-PV(residual value))
e >1; Higher is better

B Benefit Investment Ratio (BIR)

e BIR = (PV(cost savings)+PV(cost avoidance))/(PV(costs)-PV(residual value))
e >1; Higher is better

COA 1 COAZ - COA 3 - Propulsian, A
WEBS/CES Description Status m'm Propulsion and | Ground Station and Equation f Throughput B
alr Ch Mods Ord Mods
5 *EA/CBA Metrics
E  Savings Investment Ratio (SIR) (=1) o 0.000 * 5909 * 5035 * IFEP_Inw=0,0 F% _Saw f (PY_Inv-Py_Res$))
7 Benefit Investment Ratio (BIR) (=1) o 0.000 * 3809 * 3838%  IF(PY _nw=00,(P%_Sav+Py_CstavE) f P _Inv-PY_Res$) | o

£ ¥
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B The point (year) where the investment cost is recovered

m Usethe EABrkEvnYr Function
EABrkEvnYr (@savings, @invest)
» @savings —row where the annual savings cost data is contained
> @invest —row where the annual investment cost data is contained

m Calculation is typically in current year dollars but can be done
In discounted or BY dollars

0 ACE 7.3 - [07a - CBA Template for AUW.aceit - Methodology (BY 20125K)] M=E3

:% Fl= Edit ¥iew Documentation Calc  Cases  Reporks  Tools  Window  Help - X

B S R T L IR S - N kAP LT T T W

"5 <A -] B I U | % B nethodboy " DME - s8-uBsell 0L BE

15 |~ S [ 7

/% 07a - (BA Templ..logy (BY2012$K)", - X
F COA 1 COAZ-  |COA S - Propulsion, 4

WWBS/CES Description h Status {)I-IO Fropulsion and | Ground Station and Equation ¢ Throughput B

CH Chd hMods Cihd Mods

5 * EA/CBA Metrics

q Break Even Year (hased on discounted §) (eatlier iz better)| C 0* 2029 * 2029 * E&ABrkEwryr(@@PY_TotBen, @Py _nv)

11 Break Even Year (based on BYE) (earlier iz better) C 0* 2020 * 2029 * E&ABrKEwnYr{ETotBeny, @iny_Cst)

13 Break Even Year (hased on TY'E) (earlier is better) C 1995 * 2020 * 2021 * EaBrkEvnr(E@TotBenTE, @inv_CstTYE)
< >
\Methudulugv 2—{F’Iug In Links z—{"i"naewl';.f Phasing {,{What if {read only) {,{Ke';.-'words {,—\'{Custu:um 1 /{

fready MM

ACEIT Example Files, 18 September 2012 Approved for Public Release 18



B The number of years (period) required to recover an investment
cost

B Use the EAPayBckPd Function
EAPayBckPd (@savings, @invest)
» @savings —row where the annual savings cost data is contained
> @invest —row where the annual investment cost data is contained

m Calculation is typically in current year dollars but can be done
In discounted or BY dollars

[ ACE 7.3 - [07a - CBA Template for AUW.aceit - Methodology (BY20125K)] M=1E3
% Fle Edit Yew Documentation Calc  Cases  Reports  Tools  Window  Help -5 X
NGRS A X DB S0k s oz RS CR PV ESSE LS Bhakd B
: frie -8~ A-O-|B 7 U | %[ vethodbogy -EEAL-F- 8- wnfiell 030 MG
16 > S O
/% 07a - (BA Templ..logy (BY20124K)", .
= COA 1 COAZ-  |[COA 3 - Propulsion, &
WEBS/CES Description h Status m'm Propulsion and | Ground Station and Equation f Throughput D
CH Oh Mods Ohd Mods

9 * EA/CBA Metrics

10 Pavback Years (based on dizcounted $) (lower iz better) [ 0.o= 91 * 9.2* IF{P% _Ime==0,0 EAPayBokPA(EPY_TotBen, @Py )

12 Pavback Years (based on BY'E) (lower iz better) c 0.0# 120% 122+ IF{Iny_Cat=0,0 EAPayBckPd(@TotBend, @inv_Cst))

14  Payback Years (bazed on TYE) (lower is hetter) z oo+ 118+ 121 IFiiry_Cat Ty §=0 0 EAPayBckPdi@TotBenT'§, .
< >
\Methadalagy f{:PIug In Links ,z.{"r'earlv Phasing A‘What if {read only) f{:Keywards ;.{Custcnm 1 J.-’{

[ready NUM
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Internal Rate of Return (IRR) — Also known as Return on
Investment (ROI)

e The discount rate at which the present value of the investment cost
equals the present value of the savings; discount rate where NPV=0

e Calculate this value using the “Calc with CAIV” option

B Set up an IRR CAIV line where PV(Benefits) - PV(Cost) =0 at the
IRR

B Use the EADiscVal Function
EADiscVal (value, project_year, rate, method, [ current_year ])
Value — the cost value to be discounted
Project Year — zero year of project
Rate — rate used to develop annual multipliers
Method — indicator variable for cost accrual method

Y V V

Y

0 [

COA 1 COA 2 - COA 3 - Propulsion,
WES/CES Description Status m'm Propulsion and | Ground Station and Equation / Throughput
alr OM Mods OM Mods
18  ‘INPUT VARIABLES
24 IRR CAN line (where PY(Cost) = F‘V(Elenef'rtsjjl F -0.000 * 13,546,069 * 20045804 *  EADiscVal(TotBend, PY_vr-1 KRR, Dischithe) - EADiscval(lny_Cst, P_vr-1 JRR, Dischithd)

25 |
< |
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m Add arow for the IRR and give it a starting value

e This will be the free variable row that iterates until PV(Benefits) = PV(Cost)

COAs 2 - COA 3 - Propulsian, )
‘ WES/CES Description h Stgﬁi 1()1-|0 Fropulsion and | Ground Station and Equation / Throughput W
& Omd Mods Om Mods
5 'EAICBA Metrics
" 15 Internal Rate af Return (IRR) - alsa known as Return on Investment (RO (higher is better) | < 3500 3.500 3.500 * 3.5 [starting value for CAIN]
£ >
B Steps to calculate with CAIV .
1. Select Calc/Calc with CAIV
:¥ File Edit Wiew Documentation | Calc | Cases Reports  Tools  Window  Help
il Defaul Fa
.&, Synkax Check
Selected Case(s),.. Shift+F3
i Al Cases Alb+F3
L Calc with RIK
Calc wikh CAIY, .,
ﬁ Error Log Ckel+F9
Ikeration Log...
“CE Traceback Mavigatar. . F5
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B Steps to calculate with CAIV
(cont.):

2.

ACEIT Example Files, 18 September 2012

Set Estimate Row to “IRR CAIV
line (where PV(Cost) =
PV(Benefits))” row

Make sure Target Total (BY) is
“OH

Set Free Variable Row to
“Internal Rate of Return (IRR)
row

Under Calculation Options
select the appropriate case

Click OK

Cost As Independent Variable (CAIV) E|

The Eztimate

2@Estimate Row: |24 “ Select... ]

IRR CalY line [where PY([Cost] = PY[Be
() Alternate Estimate Source

Section:
Cateqory:
Code:;

The Budget T arget

3 @ Target Total Y}, -0 |

() Uze Row Result az Budget T arget:

I:I Select...

Calculation Ophions

5 Casze: | Propulzion, Ground Station and | s |

[] Evaluate each iteration with RIS

A Freeariable Row: |15

The Element to ' am [free vanable]

|[ Select... ]

Intemal Rate of Retun [IRA] - alzo know

Hiow CAR zhould adjust the free variable
%) ddjust total

Adiust each fizcal vear independentiy

Lirnit active Fr: | | | |

Conztraint on the free variable total

Free Total: 3.500000

[] Free wariable is an integer

Pl amirnuarn CAIY iberations:
Convergence tolerance: | 0.001

Search bias: |Search for clozest V|

6ok

” Cancel ][ Help ]
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m Steps to calculate with CAIV S

3

(C O n t ) . Results from CARN run [in BY): Marimum iterations reached without converging.
'/t P’ Free Variable Calculated Budget | Target Budget ZDelta |~
. TOTAL 28677758 -0.000 -0.000 0000
7. Once the CAIV calculation has
converged you will have several
H 7
options. Select “Save case
results as case override to free
. " .
variable row” and click OK
L
8. You must now calculate the < =
case to see results on the IRR Nest Action
() Aslter CAN zetings and run again
row o
'D Fiun more iterationz in attempt to converge
7 (%) Save CAN results as caze overide to free variable row
Save Calv results az new S row in session
COA 1 COAZ- COA 3 - Propulsion, Azion with |5 row containing CANY results
WEBS/CES Description h Status m'm Fropulsion and | Ground Station and | Equation / Throughput | |
al~ OM Mods O Mods
* EA/CBA Metrics
2 [ (1] 4 H Cancel ] [ Help
15 Imternal Rate of Return (IRR) - slso knowwn as Return on| C 8 32500 * 327184 [CAN] 25 B7TE [CAN 3.3 [starting value for CAIN]
24 IRR CAL line (where P4(Cost) = PV(Benefits)) F 0,000 * -0.000 * -0.000 * E&DiscvaliTotBen$,

£ |
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ACEIT

Step 8 — Report Results
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POST

ACE
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BY2012 $K

Second Level of Visibility for Total Cost (Present Value)

$400,000.000

$350,000.000

$300,000.000

$250,000.000
mCOAL1 - Status Quo

$200,000.000 .
mCOA?2 - Propulsion and OM Mods

m COAZ3 - Propulsion, Ground Station

$150,000.000
and OM Mods

$100,000.000

$50,000.000

$0.000

RDT&E Procurement Military
Personel

Operations
& Support

Multiple cases
Second Level of Visibility for Total Cost (Present Value)
FY 2008-2029

¥ Point Estimate Propulsion and OM Mods || Propulsion, Ground Station and OM Mods
000

$300.000+
$250.000+

$200.0001

BY2012 K

$150.0001

$100.000+

ROT&E

=1
@
E
z
3
8]
e
o

Military Personel

Operations & Support

Total Cost (PresentValue)

$14,000.000

$12,000.000 A\

$10,000.000

$8,000.000

—+—COA1 - Status Quo

—=#-COA2 - Propulsion and OM
Mods

BY2012 $K

$6,000.000

—=—COA3 - Propulsion, Ground
Station and OM Mods

$4,000.000

$2,000.000

$0.000

2020 2021

2022 2023 2024 2025 2026 2027 2028 2029

Multiple cases
Total Cost (Present Value)

< Point Estimate Propulsion and OM Mods <Jil= Propulsion, Ground Station and OM Mods
$13.000

$12,000 +
$11.000 +

$10.000
$9.000 4
$8.000 4
$7.000 4

BY2012 $K

$6.000 4
$5.000 4
$4.000 4
$2.000 4
$2.000 1

Approved for Public Release
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™ coA 2 - Propulsion and OM Mods
14.000.000

12.000.000 +

10.000.000 1

8.000.000 1

Units

6.000.000 1

4.000.000

2.000.000 +

0.000
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m Net Present Value

Multiple cases
NET Present Value (higher is better)

COA 3 - Propulsion, Ground Station and OM Mods

MET Present Value (h._s better)

- COA 2 - Propulsion and OM Mods
3.000.000

2.500.000+
2.000.000+
1.500.000 +

1.000.000+

Units

500.000 +

0.000 +

-500.000 +

-1.000.000 1

Multiple cases
NET Present Value (higher is better)

COA 3 - Propulsion, Ground Station and OM Mods

-1.500.000

Approved for Public Release
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m Highlight the magnitude of Costs and Savings

Dielea (&) -§8,904 743
Fercent & [1865]
Thre=hold Low Saye

Ca 3 - Propul=gion, Ground Station and O

FAET 170243

Delea (&) -$12,828 818
Fercent & [2.67%]
Thre=shold Save

Costs in BY2012 $K Total 2012 2013 2014 2015 2018 2017 2018 2019
COA 1 - Status Quo $450,007.164 | $47 072654 $29080591) $28366.880| F26312.080) $54,140531) $66023.125| $90,387.924| $59519.422
COA 2 - Propulsion and Ok Mods FT02.42

\\ 2020 2021 2022 2023 2024 2025 2026 2027 2028 2029

18.422 $12,355.069 10759041 $10,044.736)  $10,130.220) $3.719563| $3071846| 7472207 $5635516) $3936.013| #1971635
iy

/Jféﬂ.lillil?.-ﬁ-t $10635187 ) $965570)  $5559.461) 8794822 $74259.224| $6265.258| 63512650 $HN3E25) 3434333 1952590
[ SER10093E ) -FLETIEEE| 1593571 -$1485.335)  -$1335.398) -f1290.344 ) -$1,202.539) -$1,120942|  -$6Z21688)  -fR01684 -£19.106
\\ [0.8E] [12.542] [14.81] [14.79] [13.185] [14.80] [14.90] [15.002] [9.262] [12.75] [0.A87]
Save led Save fled 5ave fled 5ave fled Save|  Med Save| Med Save| Med Save Save| MedSave LowSave
AT 6260137 +6,095.783 | $3413.866) #£1940.335
-£545.289 -§& = -£1,811.704 % 23012 AR B =7 P |74 331361
2.28%) (2009:)  [2es)|  [2244x) 958 (M) (159
High Sawe High Sawe| High Save| High Save| High Save Save| MedSave Low Save
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B ACE and POST have numerous standard
tabular and graphical output options

m Organizations sometimes like to see results
In a format not part of the standard output
options

m Use POST to create a custom output format
and export to PowerPoint
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m Use Excel and POST to create/export standard reports
1. Create a custom output in Excel and link to results from a standard POST report

2. Give it an “Export” range name

3. Export to PowerPoint as usual

Open View Cases MNew Update

.-/:_. Ho-=-3& - Book2.xlsx - Microsoft Excel _
W e

Home  Insert Page Layout Formulas Data Review  View Developer  Add-Ins Acrobat pOST | @ - = X

[ Edit 3 g ',;":i_g ¥ cases ] Options 4| About

&) Lock Formatting B worksheets || (@ Help ® Close

Session Inputs/Results = @ Link to a Different Session ol (8 Files @ Tutorial
? Session Reports PowerPoint/Word Manage Application
|Exp0r‘tDecisi0nMatrix -2 S |
D E F G H I 1 K L M M o i
1
2 Detailed Decision Matrix
1 COA 2 - Propulsion & OM COA 3 - Propulsion, Ground
3 COA 1 - Status Quo Mods Station and OM Maods
4 Criteria Weight |Data Rating |Score Data Rating |Score Data Rating |Score
Total Cost =
(Constant
5 | |dollars) 0.40| & 736,028 1 0.4| 5714,327 2 0.8| $704,605 3 1.2
Budget Impact
(Current
6 | |dollars) 0.25| & 844,668 1 0.25| $817,383 2 0.5| $805,174 3 0.75
Maintenance
7 Downtime 0.15|10 Hrs 2 0.3|8 Hrs 3 0.45|12 Hrs 1 0.15
8 Response Time 0.10|Very Good 2 0.2|Good 1 0.1|Excellent 3 0.3
Reduced
9 Failure 0.10{5 per 100 2 0.2|3 per 100 3 0.3|8 per 100 1 0.1
10| |Total Score 1.00 1.35 2.15 2.50

M 4 k¥ M| Phased Line Chart

Dril-down Chart .~ Time Phased Case Defta - [[NIN m

Ready | 2

Average: 1027161958  Count: 75 Sum: 4622228309 | |E8/([O [ —@— ¥
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= Fxport Wizard

wihich element(s] do yoau want to expart?

Type

Range

Mame
Decigion Matriz
I atrix

= Fxport Wizard

‘Wwhere do you want to export bo?

File
[_% Uze Exizting File
3] Mew PowerPoint Presentation
B Mew wiord Document

S CEA AL June 2012 w2 ppts

= Fxport Wizard

YWhat do pou want bo do?
(%) Paste Inta Active Slide

) Inzert New Slide Before éctive Slide
3 Inzert New Slide After Active Slide

) Append Mew Slide to End of Presenta

= Fxport Wizard

<< Back " Mext > ][ Firis
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Heowe dao pow want to place it an the zlide?
Size
(%) Full slide
) Half lide
) Duarter lide

<< Back " Mext > ][ Firis

Finsh | [ Cancal | |

Help
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Custom Report

m Custom Report can be updated like other POST reports

Detailed Decision Matrix

COA 2 - Propulsion & OM COA 3 - Propulsion, Ground

COA 1 - Status Quo Mods Station and OM Mods
Criteria Weight|Data Rating |Score Data Rating |Score Data Rating |Score
Total Cost
(Constant
dollars) 0.40| S 736,028 1 0.4| $714,327 2 0.8 $704,605 3 1.2
Budget Impact
(Current
dollars) 0.25| S 844,668 1 0.25| $817,383 2 0.5 $805,174 3 0.75
Maintenance
Downtime 0.15}10 Hrs 2 0.3|8 Hrs 3 0.45(12 Hrs 1 0.15
Response Time 0.10}Very Good 2 0.2|Good 1 0.1|Excellent 3 0.3
Reduced
Failure 0.10|5 per 100 2 0.2(3 per 100 3 0.3|8 per 100 1 0.1
Total Score 1.00| 1.35 2.15 2.50|
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m ACEIT can be used effectively to support Army CBA
requirements

e At the core of a successful CBA is a solid estimate — ACEIT
Implements the standard Army Cost Estimating Process

e Status Quo and multiple Alternative estimates easily combined via
ACE-to-ACE Plug-In (not shown)

e CBA Metrics are easily calculated

e POST can be used to automate reports and link to the CBA briefing
template

m Extensions

e For apples-to-apples comparison, use ACEIT/RI$K to perform CBA
with consistent risk-adjusted estimates (e.g., normalized to 50%
cost confidence level).
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